Revision 3 – Property, Plant and Equipment (HKAS 16) and Investment Properties (HKAS 40)

Answer 1

(i)
Where land and buildings in the course of development are held for re-sale, they may be regarded as trading stocks of a company and as such, should be stated at the lower of cost and net realizable value in accordance with HKAS 2 on accounting for stocks and work in progress. Therefore the land and building is not considered as a depreciable asset.

(ii)
Where land buildings in the course of re-development are held for production, rental or administrative purposes or where no decision has yet been taken to re-sell the property, they may be stated at cost or at fair value. Depreciation of the buildings (and of the land where applicable) should be provided from the date the buildings can be put to effective use by the company (matching concept).

(iii)
For freehold land which has an indefinite useful life and retains its value indefinitely, it is not usually regarded as a depreciable asset and no depreciation is required for the land. The building has limited useful life thus it is a depreciable asset.

(iv)
Investment properties may not be subject to periodic charges for depreciation on the basis of HKAS 40. Unless the company chooses the cost model as the measurement policy. Under this situation, the investment property should be measured at cost less accumulated depreciation and accumulated impairment loss.

(v)
A property, or that part of a property, let to and occupied by another company in the group is not an investment property for the purposes of its own financial statements or the consolidated financial statements. The property is actually wholly used by the group, and should be subject to periodic charges for depreciation.

Answer 2

(a)(i)

Investment property is property (i.e. land and/or buildings) held to earn rentals or for capital appreciation or both, rather than for use or for sale in the ordinary course of business.

Exceptions:

(i)
A property, or that part of a property, which is owned and occupied by a company for its own purposes is not an investment property.

(ii)
Property held for sale in the normal course of business (e.g. a house builder) is inventories accounted for under HKAS 2.
(a)(ii)

Under HKAS 40, there is a free policy choice made for the investment property as a whole between the cost model and the fair value model. Under cost model, investment property applies the same treatment in HKAS 16 “Property, Plant and Equipment”, that is at cost less accumulated depreciation and accumulated impairment losses. Under fair value model, the initial recognition and measurement will still be at cost. Subsequent measurement will be at fair value. All gains and losses on revaluation will be reported in the income statement as part of the profit or loss for the period.

(a)(iii)

Land and buildings in the course of development or redevelopment should be treated as follows:

Held for re-sale

Where land and buildings in the course of development and redevelopment are held for re-sale, they should be regarded as trading stocks of an enterprise and as such, should be accounted for in accordance with HKAS 2 “Inventories”.

Held for other purposes

Where land and buildings in the course of development or redevelopment are held for production, rental or administrative purposes or where no decision has been taken to re-sell the land and buildings, they should be included in the financial statements as property, provided that the recognition criteria are satisfied.

(b)(i)

	
	
	Dr. ($)
	Cr. ($)

	31.12.1997
	Depreciation expense
	30,000
	

	
	Accumulated depreciation
	
	30,000

	
	Building
	300,000
	

	
	Accumulated depreciation
	90,000
	

	
	Revaluation surplus
	
	390,000


	
	
	Dr. ($)
	Cr. ($)

	31.12.1998
	Depreciation expense
	48,000
	

	
	Accumulated depreciation
	
	48,000

	
	Revaluation surplus
	18,000
	

	
	Retained earnings
	
	18,000


	
	
	Dr. ($)
	Cr. ($)

	31.12.1999
	Depreciation expense
	48,000
	

	
	Accumulated depreciation
	
	48,000

	
	
	
	

	
	Cash
	1,100,000
	

	
	Accumulated depreciation
	96,000
	

	
	Profit and loss
	4,000
	

	
	Building
	
	1,200,000

	
	
	
	

	
	Revaluation surplus
	372,000
	

	
	Retained earnings
	
	372,000


(b)(ii)

	
	
	Dr. ($)
	Cr. ($)

	31.12.1997
	Building
	300,000
	

	
	Income statement
	
	300,000

	
	
	
	

	31.12.1998
	No journal entry required
	
	

	
	
	
	

	31.12.1999
	Cash
	1,100,000
	

	
	Income statement
	100,000
	

	
	Building
	
	1,200,000


Answer 3
(a)(i)

Under HKAS 40, there is a free policy choice made for the investment property as a whole between the cost model and the fair value model. Under cost model, investment property applies the same treatment in HKAS 16 “Property, Plant and Equipment”, that is at cost less accumulated depreciation and accumulated impairment losses. Under fair value model, the initial recognition and measurement will still be at cost. Subsequent measurement will be at fair value. All gains and losses on revaluation will be reported in the income statement as part of the profit or loss for the period.

(a)(ii)

Up-to-date valuations required at each statement of financial position date

Where assets are carried at revalued amounts, the valuations must now be carried out with sufficient regularity such that the carrying value does not differ materially from the fair value at each balance sheet date. In volatile markets, such as the Hong Kong property market, this may require valuations be carried out every time accounts are prepared. In other more stable markets, less frequent valuations, for example every three years, may be acceptable provided the directors carry out a review of the carrying value at each balance sheet date.

It is important to note, however, that depreciation is required even when valuations are carried out every year. For example, if an asset is revalued on the last day of the year, the profit and loss account will be charged depreciation for the whole year, based on the brought forward carrying value; if it is revalued at the start of the year, the depreciation charge for the rest of the year will be based on the new valuation.

Whole class of assets to be revalued at the same time

Under HKAS 16, when an asset is revalued, the entire class of property, plant and equipment to which that asset belongs should be revalued. “Classes” are described as a grouping of assets of a similar nature and use in an enterprise's operations. Common classes include “land and buildings”, “machinery” and “furniture and fixtures”. In some circumstances, further sub-divisions may be acceptable; for example “land and buildings” could be sub-divided into factories, hotels and offices on the basis that these have dissimilar uses. However, it is doubtful that any further sub-division, for example between long-term and medium-term leases, would follow the spirit of the HKAS.

Even though the revaluation of assets is to be carried out on a class by class basis, this does not mean that it is acceptable to offset deficits arising on one asset with surpluses arising on another. Therefore deficits arising on revaluation must be charged to the profit and loss account unless the revaluation reserve holds an amount in respect of the same asset. Subsequent surpluses on revaluation can be credited to the profit and loss account to the extent that they reverse a deficit previously recognised with respect to the same asset.

(b)(i)

Star House is not an investment property since it is owned and occupied by the company for its own purposes.

Moon House is not an investment property as it is let to and occupied by another company in the group.

Sun House and Earth House would appear to be investment properties as the rental income for both is negotiated at arm’s length. The additional information that may be relevant is whether these two properties are held as investments. If the properties are held as investments, they are investment properties. Otherwise, they are not investment properties.

(b)(ii)

Assuming that Sun House and Earth House are held as investments, they should be classified as investment properties and included in the balance sheet at cost less depreciation and impairment loss or at fair value depending on the company discretion. It assumes that the company chooses the fair value model as its company policy for the measurement of investment property..

	Investment properties
	Market value
	Surplus (Deficit) credited / charged to income statement

	
	$
	$

	Sun House
	11,500,000
	1,500,000

	Earth House
	14,500,000
	(500,000)

	
	26,000,000
	1,000,000


Statement of financial position notes should disclose (assumes to use fair value model):

(a)
The basis of valuation and the fact that the valuation is made by the company’s officers.

(b)
Net gains or losses from fair value adjustments.

(c)
additions and disposals during the period

(d)
transfers to and from investment property.

Moon House and Star House are to be treated as depreciable assets and should be depreciated over their estimated useful life. These two non-current assets will therefore be reported in the statement of financial position at the following figures:

	Buildings
	Cost
	Accumulated depreciation
	Net book value

	
	$
	$
	$

	Moon House
	25,000,000
	2,000,000
	23,000,000

	Star House
	35,000,000
	1,400,000
	33,600,000

	
	60,000,000
	3,400,000
	56,600,000


Statement of financial position notes should disclose the accounting policy, depreciation methods and depreciation rates adopted by the company.

(b)(iii)

Some properties may have a dual use, i.e. part of the property is used as investment property and part of the property is held for own use. HKAS 40 sets out requirements in respect of whether any part of a dual use property can be regarded as investment property. These requirements are that where properties have dual use, the investment property part will only be classified as investment property if one of the following conditions is met:

(i)
the portions could be sold separately (or leased out separately under a finance lease); or

(ii)
the portion held for own use is an insignificant part of the property as a whole (in which case the whole property is classified as investment property).

This means, for example, that if 80% of the floor area is let out to tenants and 20% is used by the owners, and if the portion leased out could not be separately sold or let under a finance lease, the whole property will have to be classified as “own-use”, since 20% is not an insignificant amount.

Answer 4
(a)(i)

Property, plant and equipment are tangible assets that are held by an enterprise for use in the production or supply of goods or services, for rental to others, or for administrative purposes and are expected to be used during more than one period.

An item of property, plant and equipment should be recognised as an asset when it is probable that future economic benefits associated with the asset will flow to the enterprise, and the cost of the asset to the enterprise can be measured reliably.

(a)(ii)

The initial cost of an item of property, plant and equipment comprises its purchase price and any other costs directly attributable to bringing the asset to working condition for its intended use.

The purchase price is taken after deduction of any trade discounts or rebates (but not early settlement discounts), but includes import duties and non-refundable purchase taxes.

Directly attributable costs are the incremental costs that would have been avoided had the assets not been acquired. These costs include:

· The cost of site preparation;

· Initial delivery and handling costs;

· Installation costs;

· Professional fees such as those of lawyers, architects and engineers; and

· The estimated cost of dismantling and removing assets and restoring the site, to the extent that such costs represent a present obligation of the reporting enterprise.

In the case of a self-constructed asset, the cost is determined using the same principles as for an acquired asset. Cost is measured as the production cost of the asset, which consists of the purchase price of the raw materials and consumables used, plus other costs incurred that are directly attributable to the production of asset. In addition, the production cost of the asset may include a reasonable allocation of production overheads and interest on capital borrowed to finance the production of the asset to the extent that is accrues in respect of the period of production. However, the cost of abnormal amounts of wasted material, labour or other resources incurred in the production should not be included.

(b)(i)

Initial cost of the addition to the plant

	
	$

	Basic list price
	420,000

	Trade discount
	(63,000)

	Shipping and handling costs
	4,500

	Installation costs
	10,000

	Pre-production testing
	12,500

	Site preparation cost
	

	Electrical cable installation (21,000 – 9,500)
	11,500

	Concrete reinforcement
	6,250

	Own labour costs
	11,250

	Dismantling and restoration costs (20,000 + 5,000)
	25,000

	Initial cost of the addition to the plant
	438,000


The early settlement discount and the maintenance cost are revenue items. The sales tax on the plant can be reclaimed by Hanford. The cost of the specification error must be charged to the income statement.

(b)(ii)

Accumulated depreciation on the plant disposed of:

The accumulated depreciation on the plant disposed of is calculated as 10% of $300,000 for three years = $90,000.

(b)(iii)

Hanford Ltd

Corrected schedule of the movement on plant

	
	Cost
	Depreciation

	
	$
	$

	Balance at 1 Jan 2001
	1,624,000
	650,000

	Additions at cost
	438,000
	

	Disposals
	(300,000)
	(90,000)

	Depreciation charge for the year (W1)
	
	176,200

	Balance at 31 Dec 2001
	1,762,000
	736,200


Working:

(W1) Depreciation charge for the year

Depreciation charge for the year is 10% of the corrected cost of plant at the year end, i.e. 10% x $1,762,000 = $176,200.

Answer 5
(a)

The initial measurement of the cost at which the plant would be capitalized is calculated as follows:

	
	$
	$

	Purchase price:
	
	

	Purchase price of plant
	1,920,000
	

	Less: Trade discount (15% x 1,920,000)
	(288,000)
	1,632,000

	Directly attributable costs:
	
	

	Shipping costs and handling charges
	22,000
	

	Costs of pre-production testing
	100,000
	122,000

	Installation costs of electrical cable (112,000 – 48,000)
	64,000
	

	Costs of concrete reinforcement
	36,000
	

	Labour costs allocated to site preparation
	60,000
	160,000

	Initial estimate of dismantling and removing restoring costs
	
	

	Dismantling costs
	120,000
	

	Restoration costs
	24,000
	144,000

	Total initial cost of plant
	
	2,058,000


In accordance with HKAS 16, the cost of a tangible non-current asset comprises its purchase price and any other costs directly attributable to bringing the asset into a working condition for its intended use.

Therefore, the initial cost of a tangible non-current asset, specified in HKAS 16, includes:

1.
The purchase price of the tangible non-current asset should include any transport and handling costs and non-refundable taxes; however, trade discounts and rebates should be deducted from it. If payment is deferred beyond normal credit terms this should be taken into account either by the use of discounting or substituting a cash equivalent price.

2.
The directly attributable costs, which bring the asset to the location and condition necessary for intended use by management, may include installation costs and site preparation costs; and professional fees such as legal fees, architects’ fees, etc.

3.
The initial estimate of the costs of dismantling and removing the item and restoring the site on which it is located. This is the obligation which an entity may incur when the item is acquired or as a consequence of having used an item during a particular period for purposes other than to produce inventories during the period.

(b)

In accordance with HKAS 16, circumstances in which subsequent expenditure on those assets being capitalized should depend on whether the expenditure incurred will result in a probable future economic benefit in excess of the amount originally assessed for the asset. All other subsequent expenditure should be recognized in the income statement as it is incurred.

Examples of circumstances where subsequent expenditure should be capitalized are:

· A modification to the asset enhances the production capacity of an asset.

· The upgrading of an asset that will improve the quality of production or output.

· An improvement of the existing production process which results in cost savings.

· A major component of an asset that has been treated separately is replaced or restored; for example, new engines for a machine.

· A major overhaul of an asset that restores its previous life; therefore, the consumption of the previous economic benefits has been reflected by past depreciation charges.

[Any 2 points, 1 mark each, maximum 2 marks]

(c)

In accordance with HKAS 16, after initial recognition, an item of tangible non-current asset shall be measured by applying either the cost method or revaluation method:

(i)
Cost method – an item or property, plant and equipment shall be carried at its cost less any accumulated depreciation and any accumulated impairment losses.

(ii)
Revaluation method – an item of property, plant and equipment shall be carried at a revalued amount, being its fair value at the date of the revaluation less any subsequent accumulated depreciation and subsequent accumulated impairment losses.

An entity allocates, on a systematic basis, the amount initially recognized, that is the depreciable amount of an item of property, plant and equipment over its useful life. The depreciation method used shall reflect the pattern in which the asset’s future economic benefits are expected to be consumed by the entity.

If the recoverable amount of an item of property, plant and equipment is less than its carrying amount, the carrying amount of the property, plant and equipment shall be reduced to its recoverable amount; and that reduction is an impairment loss.

Answer 6
(a)

Under HKAS 40, there is a free policy choice made for the investment property as a whole between the cost model and the fair value model but with some exceptions. Under cost model, investment property applies the benchmark treatment in HKAS 16 “Property, Plant and Equipment”, that is at cost less depreciation and impairment losses. Under fair value model, the initial recognition and measurement will still be at cost. Subsequent measurement will be at fair value. All gains and losses on revaluation will be reported in the income statement as part of the profit or loss for the period.

(b)

Revaluation of non-current assets

Under HKAS 16 revaluations are permitted for the measurement of assets subsequent to their initial recognition. Where an entity chooses to revalue a tangible non-current asset, it must also revalue the entire class of assets to which it belongs. Further, sufficiently regular revaluations should be made such that carrying amounts of revalued assets should not differ materially from their fair values at the balance sheet date. Where an asset had been written down to its recoverable amount due to impairment, this is not classed as being a policy of revaluation. The effect of the above is that it prevents selective or favourable valuations being reported whilst ignoring adverse movements, and where a company has chosen to revalue its assets (or class thereof), the values must be kept up-to-date.

Surpluses and deficits on revaluation

Surplus on revaluation are taken to equity under the heading of revaluation surplus, unless and to the extent that they reverse a previous loss on the same asset that has been charged to the income statement, in which case they should be recognised as income.

Deficits on revaluation should normally be charged to the income statement. However, where they relate to an asset that has previously been revalued upwards, then to the extent that the losses do not exceed the amount standing to the credit of the asset in the revaluation reserve, they should be charged directly to that reserve.

Gains and losses on disposal

All gains and losses on disposal should be recognised in the income statement in the period of disposal. Any revaluation surplus standing to the credit of a disposed asset should be transferred to accumulated realized profits as a movement on reserves.

(c)

	
	31 Dec 2001
	31 Dec 2002

	Income statement extract
	$
	$

	Amortisation
	(100,000)
	(105,000)

	Revaluation deficit
	-
	(125,000)

	
	
	

	Balance sheet extract
	
	

	Building
	1,155,000
	875,000

	
	
	

	Revaluation reserve
	
	

	Balance at 1 January 2001
	250,000
	

	Revaluation surplus
	55,000
	

	Balance at 31 December 2001
	305,000
	

	Transfer to accumulated profits (55,000 x 1/11)
	(5,000)
	

	Proportion of revaluation deficit
	(50,000)
	

	Balance at 31 December 2002
	250,000
	


	Workings:
	
	

	Cost 1 January 2001
	1,200,000
	

	Amortisation to 31 Dec 2001 (1,200,000/12 years)
	(100,000)
	

	
	1,100,000
	

	Revaluation surplus
	55,000
	

	Carrying value at 31 December 2001
	1,155,000
	

	Amortisation to 31 Dec 2002 (1,155,000/11 years)
	(105,000)
	

	
	1,050,000
	

	
	
	

	Revaluation deficit directly to revaluation reserve
	(50,000)
	

	Remaining deficit to income statement
	(125,000)
	

	Carrying value at 31 Dec 2002
	875,000
	


(d)

Property Investment Ltd

Statement of financial position extract as at 31 December 2002

	Non-current assets
	Cost/valuation
	Accumulated depreciation
	Carrying value

	
	$’000
	$’000
	$’000

	Property, plant and equipment – A
	900
	36 (2 years)
	864

	
	
	
	

	Investment properties
	
	
	

	– B
	870
	Nil
	870

	– C
	840
	Nil
	920


Investment property loss for year to 31 December 2002

Deficit in market value of investment property B

(1,080 – 870)
(210)

Surplus in market value of investment property C

(920 – 840)
80

Income statement extract for year to 31 December 2002

Depreciation

– Property A
18


(900/50 years)

Loss/(gain) on investment property

– Property B
210

– Property C
(80)

Answer 7
(a)

HKAS 40 defines an investment property is property (i.e. land and/or buildings) held to earn rentals or for capital appreciation or both, rather than for use or for sale in the ordinary course of business.

The following are are not investment properties:

(i)
Owner occupied property. The property is being held for use (as a factory or office) and not for its investment potential. It should be accounted for under HKAS 16. Property occupied by another group company would come under this heading.

(ii)
Property held for sale in the normal course of business (e.g. a house builder) is inventories accounted for under HKAS 2.

(iii)
Property being constructed for third parties is accounted for as a construction contract under HKAS 11.

(iv)
Property being constructed or developed for future use as investment property. This will be accounted for as capital work in progress under HKAS 16 until the asset is finished and transferred to investment properties.

(b)

(i)
Able House:

The accounting method selected by the director of Purple Limited is not correct. Able House held by a parent (Purple Limited) and leased to a subsidiary. The subsidiary can treat the House as an investment property in its financial statements. However, in the consolidated financial statements this property will be regarded as owner-occupied (because it is occupied by the group) and will therefore be treated in accordance with HKAS 16. This means that annual depreciation should be charged to the income statement and the net book value should be included in the balance sheet.

(ii)
Cable Square:

This is clearly an investment property because this represents an interest in land and/or building which generates rental income negotiated at arm’s length. HKAS 40 requires that investment properties should be included in the balance sheet at fair value (because the director adopts the fair value model) and should not be subject to a periodic charge to depreciation. The changes in value of investment property should be taken to the income statement. Based on the discussion so far, the way that the director of Purple Limited has dealt with this item is correct.

(iii)
Escort Building:

Same as Cable Square, this property also fall within the definition of investment properties under HKAS 40. Again, due to the fair value model being adopted, the changes in value of investment property should be taken to the income statement and not be subject to a periodic charge to depreciation.

(c)

Statement of financial position extract as at 31 December 2004

	
	Cost/valuation
	Accumulated depreciation
	Carrying value

	
	$000
	$000
	$000

	Non-current assets
	
	
	

	Property, plant and equipment
	
	
	

	- Able House
	3,890
	648
	3,214

	Investment properties
	
	
	

	- Cable Square
	1,827
	Nil
	1,827

	- Escort Building
	1,890
	Nil
	1,890

	
	
	
	

	Income statement extract for the year ended 31 December 2004

	Depreciation expenses – Able House ($3,890 / 12 years x 2 years)
	
	
	648

	Investment properties revaluation gains/(losses)
	
	
	

	- Cable Square (1,827 – 2,268)
	
	
	(441)

	- Escort Building (1,890 – 1,764)
	
	
	126


Answer 8
(a)

HKAS 40 requires that investment properties be included in the balance sheet at their fair value and are not subject to annual depreciation (because of fair value model being adopted that mentioned in the question).
The accounting treatment of investment properties is different from property, plant and equipment, as stated in HKAS 16, where general property is recorded at cost and subject to annual depreciation. The reasons for the different accounting treatment between investment properties and owner-occupied properties are:

(i)
The major reasons for owning investment properties are the expected rental return and benefits from capital appreciation. The purpose of owning investment properties is similar to that of holding trading securities; therefore, presenting investment properties at their fair value can reflect the intention of holding investment properties.

(ii)
Investment properties are not held for consumption in normal course of business; in particular, they are not used for the production of goods for sale or for providing services to customer or for administrative purposes. The underlying reason for providing annual depreciation is “matching” costs with related revenue generated from owner-occupied properties, plant and equipment.

(iii)
Investment properties are held as an investment for subsequent disposal for capital gains. For the purpose of making an appropriate economic decision in this context, it is the current values of the investment and the changes in them that are more important than their original costs.

(b)

Before 1 July 2004, the apartment block was not owner-occupied but held to earn rentals and therefore was an investment property under HKAS 40. Under HKAS 40, gains and losses arising from a change in fair values should be included in net profit or loss for the year.

From 1 July 2004 onward, the apartment block was accounted for as an item of property, plant and equipment because it was rented to a subsidiary; therefore, the re-classification from investment property to property, plant and equipment is required. HKAS 40 states that, for a transfer from investment property carried at fair value to owner-occupied property, the property’s deemed cost for subsequent accounting shall be its fair value at the date of change in use. Therefore, the carrying value of property, plant and equipment at 1 July 2004 shall be its fair value at that date.

Under HKAS 16, gains and losses arising from a change in fair values should not be included in net profit or loss for the year but should be treated as movements in the revaluation reserve. The $3 million “revaluation surplus” in 2005 represents 7% of total assets (and 70% of profit before taxation) and is therefore material. In accordance with HKAS 16, annual depreciation should be provided for the property, plant and equipment over its remaining useful life from 1 July 2004.

The journal entries for 2004 and 2005 are as follows:

	
	
	
	$000
	$000

	30/6/04
	Dr
	Investment properties
	2,000
	

	
	Cr
	Profit and loss – surplus on revaluation
	
	2,000

	
	
	To charge the change in value of investment property to profit and loss

	1/7/04
	Dr
	Property, plant and equipment
	9,000
	

	
	Cr
	Investment properties
	
	9,000

	
	
	To record the transfer from investment properties to property, plant and equipment

	30/6/05
	Dr
	Profit and loss – increase in value of properties
	3,000
	

	
	Cr
	Revaluation surplus
	
	3,000

	
	
	To credit the increase in value of property, plant and equipment to equity

	30/6/05
	Dr
	Profit and loss – depreciation expenses
	600
	

	
	Cr
	Provision for depreciation
	
	600

	
	
	To provide the annual depreciation for property, plant and equipment


Answer 9

(a)

The initial measurement of the cost at which the plant would be capitalized is calculated as follows:

	
	$
	$
	Marks

	Purchase price
	
	
	

	Purchase price of plant
	1,920,000
	
	0.5

	Less: Trade discount (15% x 1,920,000)
	(288,000)
	1,632,000
	0.5

	Directly attributable costs:
	
	
	

	Shipping costs and handling charges
	22,000
	
	0.5

	Costs of pre-production testing
	100,000
	122,000
	0.5

	
	
	
	

	Installation costs of electrical cable

(112,000 – 48,000)
	64,000
	
	1

	Costs of concrete reinforcement
	36,000
	
	0.5

	Labour costs allocated to site preparation
	60,000
	160,000
	0.5

	Initial estimate of dismantling and removing restoring costs
	
	
	

	Dismantling costs
	120,000
	
	0.5

	Restoration costs
	24,000
	144,000
	0.5

	Total initial cost of plant
	
	2,058,000
	1


In accordance with HKAS 16, the cost of a tangible non-current asset comprises its purchase price and any other costs directly attributable to bringing the asset into a working condition for its intended use. [2 marks]

Therefore, the initial cost of a tangible non-current asset, specified in HKAS 16, includes:

1.
The purchase price of the tangible non-current asset should include any transport and handling costs and non-refundable taxes; however, trade discounts and rebates should be deducted from it. If the payment is deferred beyond normal credit terms this should be taken into account either by the use of discounting or substituting a cash equivalent price. [2 marks]
2.
The directly attributable costs, which bring the asset to the location and condition necessary for intended use by management, may include installation costs and site preparation costs; and professional fees such as legal fees, architects’ fees, etc. [2 marks]
3.
The initial estimate of the costs of dismantling and removing the item and restoring the site on which it is located. This is the obligation which an entity may incur when the item is acquired or as a consequence of having used an item during a particular period for purposes other than to produce inventories during the period. [2 marks]
(b)

In accordance with HKAS 16, circumstances in which subsequent expenditure on those assets being capitalized should depend on whether the expenditure incurred will result in a probable future economic benefit in excess of the amount originally assessed for the asset. [2 marks] All other subsequent expenditure should be recognized in the income statement as it is incurred. [1 mark]
Examples of circumstances where subsequent expenditure should be capitalized are:

· A modification to the asset that enhances the production capacity of an asset.

· The upgrading of an asset that will improve the quality of production or output.

· An improvement of the existing production process which results in cost savings.

· A major component of an asset that has been treated separately is replaced or restored; for example, new engines for a machine.

· A major overhaul of an asset that restores its previous life; therefore, the consumption of the previous economic benefits has been reflected by past depreciation charges.

[Any 2 points, 1 mark each, maximum 2 marks]
(c)

In accordance with HKAS 16, after initial recognition, an item of tangible non-current asset shall be measured by applying either the cost method or revaluation method:

(i)
Cost method – an item of property, plant and equipment shall be carried at its cost less any accumulated depreciation and any accumulated impairment losses. [2 marks]

(ii)
Revaluation method – an item of property, plant and equipment shall be carried at a revalued amount, being its fair value at the date of the revaluation less any subsequent accumulated depreciation and subsequent accumulated impairment losses. [2 marks]
An entity allocates, on a systematic basis, the amount initially recognized, that is the depreciable amount of an item of property, plant and equipment over its useful life. The depreciation method used shall reflect the pattern in which the asset’s future economic benefits are expected to be consumed by the entity. [2 marks]

If the recoverable amount of an item of property, plant and equipment is less than its carrying amount, the carrying amount of the property, plant and equipment shall be reduced to its recoverable amount; and that reduction is an impairment loss. [2 marks]
Answer 10
(a)

(1)
As the land will be developed for the company’s own use, the property should be classified as property, plant and equipment. Since the plot of land is leasehold land, its cost should be amortized over the remaining term of the lease.

(2)
The villa property was held for rental purposes, so it should be classified as an investment property. No depreciation is required as the company adopts the fair value model to measure the value of the property.

(3)
Since the property is for the company’s own use, it should be classified as property, plant and equipment. No amortization is required for the land as it is freehold. The building is subject to depreciation over its remaining useful life.

(4)
The residential development is for sale in the market, so it should be classified as inventory, and no depreciation is required.

[2 marks for each point, maximum 8 marks]

(b)

	(1)
	Dr. ($)
	Cr. ($)
	Marks

	Leasehold land
	420m
	
	0.5

	Bank
	
	420m
	0.5

	(To record the purchase of land)
	
	
	

	
	
	
	

	Amortisation
	8.4m
	
	0.5

	Accumulated amortization
	
	8.4m
	0.5

	(To record the amortization of leasehold land ($420m/50))
	

	(2)
	
	
	

	Changes in fair value of investment property
	30m
	
	0.5

	Investment property
	
	30m
	0.5

	(To record the change in fair value of investment property (120m – 90m)
	

	(3)
	
	
	

	Land and building (160m – 120m)
	40m
	
	0.5

	Accumulated depreciation (80m – 60m)
	20m
	
	0.5

	Revaluation surplus
	
	60m
	0.5

	(To record the revaluation of land and building)
	
	
	

	
	
	
	

	Depreciation ($90m/15)
	6m
	
	1

	Accumulated depreciation
	
	6m
	0.5

	(To provide for building depreciation)
	
	
	

	*remaining useful life of the building after revaluation:

20 years – [$(80m – 60m)/4] = 15 years
	
	
	

	
	
	
	

	(4)
	
	
	

	Impairment loss on inventory
	400m
	
	0.5

	Inventory
	
	400m
	0.5

	(To provide for lower of cost and net realizable value for inventory)
	


(c)

Sky Property Ltd.

Statement of comprehensive income

For the year ended 31 December 2008 (extracts)

	
	
	$
	Marks

	Depreciation and amortization $(8.4m + 6m)
	
	14.4m
	1

	Impairment loss on inventory
	
	400m
	1

	Changes in fair value of investment property
	
	30m
	1


Sky Property Ltd.

Statement of financial position

As at 31 December 2008 (extracts)

	
	
	$
	Marks

	Non-current assets
	
	
	

	Property, plant and equipment $(420m – 8.4m) + $(160m – 6m)
	
	565.6m
	1

	Investment property
	
	90m
	1

	
	
	
	

	Current assets
	
	
	

	Inventory
	
	1,500m
	1


(d)

The depreciation of property, plant and equipment is based on the matching principle. As long as the property, plant and equipment has a limited useful life, due to reasons like physical wear and tear, technological obsolescence, etc., the company which uses these assets to facilitate their day to day operations is effectively consuming part of these assets to generate economic revenue. Depreciation is a charge to the income statement to reflect this economic substance and also to match the revenue earned as a result of using these assets. [4 marks]
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